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. . Wh_at is the average nlumbler of pagtles prlintedl
The following table shows number of pages printed by by printer © onm Mondsy, Wednesiay.

five printers A to E during Monday to Friday. Study the | Thyrsday and Friday taken together?
table and answer the following questions 1-5. AR, gUdR, JeWiadar iR IhaR bl

=t arfereen & Hreaw § g 3 S el e A | fie e CJern wiza ot (st e
¥ E g Ui St @ we g W ) arferent @hr|  F 2 =

: , : 33 b) 33.2
IFIT Wt 3 Taferiga JoAt 1-5 & 3T < 52; 34 q(d) 3425
Printers/fiex A |B @ D |E QB\’N
> \
- >
Days/f /g 2 11°%

v , y C
Monday/@wamt | 25 | 20 [(35) 15 | 25 s \3\ — ha :
Tuesday/MTea® Y |40 [15[30[20[20] ~ W Le
Wednesday/Gera® v |22 | 11 |33 40 | 20 A

Thursday/gg@faar /|32 | 42 [(32)] 30 | 22
Friday/3Tsha{ v 13636373525




The following table shows number of pages printed by Which printer has printe-d!-third lowesf number
five printers A to E during Monday to Friday. Study the @of pages in all the five days taken together?
table and answer the following questions 1-5. gt uTer faawt et fieTet i & el | di
frer fereer & WaT # YA % S U el A | wery ww agt o R R T E?
¥ EFW OGA g @ wen i W h Awm @ oy g (0) C V
ema & 3 Frefeiad gt 1-5 & 3T <) o) DY v d) E v
Printers/{UeT \A)[B [C [D |E 27—39 ) J
> |* e -\
Days/& Y o _GaoV
v 7 —

Monday/@@aR  — o [25[20 35|15 |25 b -

Tuesday/HTeTaR 40 | 1530 |20 | 20

Wednesday/sferam 22 | 11 {33 |40 |20

Thursday/g&@fdam 32(42(32|3022

Friday/3TghaT 36 (36 |37 (35 | 25

<~ x5




. . In all five days of printing, what percentage of
The following table shows number of pages printed by sagesipEniten by Brintek D Yok hess Pilitea by

five printers A to E during Monday to Friday. Study the printer E2__

table and answer the following questions 1-5. . aeft uter feaat & wgur &, (feT D qisa
et aTfereRt & WWGW W YIRAT % G uier T A wﬂwm@ﬁmm%v
¥ E g0 Ufsa Bl sl e g S ¢ vt @ (@) 75% (b) 80%
T 91 AT oAt 15 % 3 (°) s jd) B
Printers/fiet A|B|C|D|E @
.._)
Days/f¢H / V- A7 \\2_ *\'\YY)
| € -\ V10
Monday/@THaR 2520 35[15]25 _— N —

Tuesday/FTeaR 40 (153020 | 20 »\
Wednesday/sferam 22 |11 | 3314020
Thursday/Jgefdar 321423203022

Friday/3gamt 3636|3735 [ 25

aEn———
T




The following table shows number of pages printed by
five printers A to E during Monday to Friday. Study the
table and answer the following questions 1-5.

el ATfereRt § WIWaW ¥ YHAR & O Ui e A
¥ E g UfEd USt s WG UG TG {1 ierant
T T AT Frferiiga woat 1-5 o ST <)
Printers/fieT A|B|C|D|E]
v/
._)
Days/fe
Y
Monday/@Tam 25 (20 (35|15 [Q5)
Tuesday/HTeTaT 40 | 153020 |20
Wednesday/seram 22 | 11 | 33 (40 ) 20
Thursday/ggfdar 32(42(132(30]|22
Friday/3[saTt 36 3637|3525

What is the between pages printed by
printer £ _on _Monday and pages printed by
printer D on Wednesday?

/e E gra '-H'I'CIT:I'REET trfiaqa‘r 3 fiieX D
mwﬁw&ﬂ@%ﬁamw%‘?




The following table shows number of pages printed by l_TOtal number of pages printed by all printers
: ; : in five days 1s,
five printers A to E during Monday to Friday. Study the uia fre @ ufid st W we
table and answer the following questions 1-3. . N\ Y Y = 7
et arferent # WA ¥ ypekaw % A e i A | (S E('f) '6'7“""“ ' -
g o A
FeI i R Fferigd goat 1S e ST
Printersfi@@ (A [B[C [D [E |
—_ L
_)
s
@ . J7 A SV
Monday/GTHaT 25 (2035 |15 | 25
Tuesday/HTTeTaR 40 11513020 |20
Wednesday/Serdr 22 |11 | 334020
Thursday/gg@faar (| 32 §42 [ 3230 [ 22
Friday/3[shat 36 [B6 | 37| 35| 25 |}




Which of the following have been identified as
key behaviours contributing to effective
teaching?/

gt foraru & T @Ry & fore FrefrREs
T A fre 9 e & B0 § UgSErn T g2
\/K Lesson clarity/91d ¥q8dl v -
JZ. Instructional variety/31aMTeHe fafaerdr
3. Using student ideas and contribution %
foranfei=i o foami Td ¥8anT &1 S
f Engagement in learning process
TR Sfshar § Felrar &l
5.  Structuring/FET

Choose the correct answer from the options
given below:

ﬁ%ﬁ&ﬁﬁmﬁﬁnﬁw
(a) 1,2and40nlv/%?[l,23ﬁi

(b) 1,2and30nly/av_c|?'l 1, 2 37 3
(¢) 2,3 and 4 only/&had 2, 3 31 4
(d) 3,4 and 5 only/shad 3, 4 3T 5




In which of the following, the direction of

influence is mainly one way: @ Q@
frfafea o & e o gywig &t faom yg@Ea: N
Teh T Bidl 87

(a) Counseling/IUHT! T

(b) Guldmg/ﬂﬁa?ﬁ HG\H HEAT

(c) Teachmg/@TW
/K b‘y)

d) Learmng/@




The communication process is active and
interactive at a very high level in which of the

following Ievel of teaching?

foreror & ﬁrwﬁnﬁw
TiehaT 3Tf Iol WX UX Aichd Td 3TdfchaTcHdh N/

e 3 ®
((Reﬂective level/’éri%l'm’f@ W

(b) Understanding level/37asie &R M
(c) Memory level/H[d & __> % //'/ -~

(d) Autonomous development level
@I fahg &) 'JN
N W
N i
v |- qw(‘/\
\




Which of the following need strengths in (o‘) /K
Maslow's hierarchy are related to Eigher ordea '\b/

learning? \0 =
A o 3fisem o faefafaa @ |/ \y
ATATTRAT I Il TRATH | Haterd &7 / U

./. Physiological needs/¥RR fshaldeh 3T
Z. Safety needs/HWIl shi 3TITIHAT h J
A. Social needs/ﬂTlIITﬁ:’l?m" 3ATIIIhdd

\4. Esteem needs/3THEHETT hi AFIAHAT
L 5. Needs for self actualization

: " !%5
Choose the correct answer from the options

ATHG(E hl ATTIIHAT /

given below: \{V
ﬁ%ﬁ&ﬁﬁwﬁﬁﬁuﬁwaﬁn& @

(a) 1 and 2 only/dad 1 3R 2 @

(b) 2and 3 onlyf%?'l 2 3R 3

(¢) 3 and 4 only/&dd 3 3R 4
(d) 4 and 5 only/&dd 4 3R 5 \/




Which of the following features best( describe)

an independent variable in research?

Frafeiad H o T ©f faorearg oner § oFeE

=T SRl aaH Ui ehidl &7

\/f . It 1s the cause in the cause-effect relationship
I8 HRUT-HE el H hHieh & |

2. It is the effect in the cause-effect relationship
I HRUT-HTE daiel H q91e 2 |

3, It 1s condition or characteristic which is

\/ manipulated in an experimental study

o8 a8 fafa = fovmar @ e sEinmes
AT H - fhaT SITar 3 |
4. It 1s the variable which i1s placed under control
gg d8 =X @ ford fagsor o war war g
5. It is a kind of response variable
g Teh JhIL <hl 3fehaT =X 2l

Choose the correct answer from the option
given below:

rer fau 7o faekeat @ 9 @& ST I~
(a) 1 and 2 only/&had 1 3 2

(b) 2 and 3 only/shdd 2 31X 3

(c) 1 and 3 only/shad 1 37X 3

(d) 4 and 5 only/<hd

Yy

NN




Given below are two statements:

Hir=r 2r v fag 7T — \\
Statement/sheTA 1 :

Every research institute has to enforce research

ethics 1n order to insure credibility and
meaningfulness of human inquiry./AEa"  TST=4ET

4 favagdzar_ud "refshar gfafR=a i o foro
gdsh TNY AT ahl IHEA AR hl HAJATAT  hLAl
1c01 A I

Statement/sh2arA 11 :

ICT and its use 1n research has abetted ethical
lapses in the conduct of research wherever it has
been placed./sie H AE.E.2T. Ta1 IHHRT STIIANT
Stet el ol B3 o _sdd oAgeerd ohid H SArard
fadoifaat =il gz 21
In the light of the above statement, choose the

most appropriate answer from the options
given below:

Iud<h heAl oh 3TTATeh W iAitera faakeal w

o waifares Sug<h SS9 =14 -

(a) Both statement I and Statement 11 are correct
e 1 A 11 <41 9T 2

(b) Both statement I and Statement II are

incorrect/h== I 3T 11 =S4T 9&T 981 2 |

(c) Statement I 1s correct but Statement II 1is
incorrect

Hua 1 91 2 fohg sva= 11 9 =87 2
(d) Statement 1 i1s incorrect but Statement II 1s
correct

S99 1 9 TT 2 g o= 11 9T 2




The impact of classroom communication
should be so regulated that it should result in

—

HT THEW & YHIT hl 36 Y Taf-raiid
ferel WTT feh SHaRT og TRuTH i @

Exchange of 1deas and information
foral wd g 1 SAEE-gEH
(b) Top-down designed communication

Seaier STfiehedss Ty

(¢) Back room learning/ash&q 31fenmm
(d) Minimum opportunity for feedback

Sfqfy 3q =AdH A




In a clz;ssm(;m,mdue to which of the following
limitations it is easy to talk about something we
do not want to?

HaT ° fAfefiga # 9 @i @ Ufdeen o ST
%o fawal U et & T g §,
&0 el =g &2 T

(A) Infrastructure/AIHEAT

(B) Working memory/&&giiel Tfd

(C) Conscious awarene%ﬁ?ﬁ SRR

(D) Yes tags/a49 g 9 —
(E) Mentaments/ﬂﬁm 3THEH(d

Choose the most appropriate answer from the
option given below:
et fer Tt feredt & @ W IR SR
(a) A, B, Conly/&dd A, B, C
_(b) B,C, D only/&ad B,C,D__/
(c) C,D, E only/shdd C, D, E
(d) A, D, E only/&ad A, D, E




T

Find out the correct sequence of selectivity

stages ugass commumcatm"’j )/'J/ I\
& =nun o (EE_wmm (/

LERCIIELE < w)
(A) Exposure/iﬁx’w\/ 9 \

(B) Retention/ 37aXe O :
(C) Attitudinal change/319gfde trﬁa?ftr(" )
(D) Perceptlon/ail?zlﬁ%l:r &)

(E) Attention/ 3799 @

Choose the correct answer from the options
given below:

ﬁﬁﬁnﬁﬁm‘rﬁﬁuﬁwaﬁw

(a) A,B,C,E,D
(c) C,E,D, A, B (d) A, E, D,B, C




Match List I with List II :
et 1 ol =i 11 & Garad ahifstal

List/&=i-1

o )

conversation

degYfdaen ardiey

(A) [Non Verbal]| (1) [Reflects confidence
communication in one's own self
T difigsh eIwoT fordt =afts & @ &
3TAfIATT ol yef3id
X LT & |
(B) |Listening/1a0T \tii) Occupies more
space O.f personal
communication
dafthes _g@IwOT &
Ffereh T oidl 21
(C) |[Empathetic (111)|Helps internalize

message

Haul & ST H

ﬁ—-\
Haldsh gldl & |

(D)

Stress managem ‘E\Q/)
/ through —

communication

Uy g0 Sfdea

. —
e

Seeing things from
other's point  of
view

T & FfEH §

IEST Rl AT

Choose the correct answer from the options
given below:

Trafarfaa fasear o 9 @t 3¢ "f-ul

(a)

Sb)

©

-11, C-1V, D-111

II C-1V, D-I1

(<)
(d)

, B-
., B-
.-

NV DT

I, C-11, D-I11




Six girls A, B, C, D, E, and F are standing in a
row. Only B is standing between D and F. A does
not stand next to either F or D. does not stand
next to D. E stands between A and C.

®

B: ASfRAt A, B, C, D, E 3fX F Uk dfes # \
Qv

J

16

@@‘%IDaﬁTFa?ﬁ?ﬁmB@_eﬁ%lA F
mnéawﬁq@'@’:ﬁ%lc C.D & s
T ESTTIANNCHFATHE TSt g

(A) Only F stands between B and C
C & g & Faa F Tt 2

(B) Only C stands between A and F

AR F & &9 # Faa C @l 2|
(C) D and A occupy extreme ends

D 31X A dfts & 4 3R 9 Gt g A—:C"Q’D J
(D) Only E stands between F and A 7(

F 31 A & =g shad E Tl 2| —
(E) Only B stands between D and F \/

D 31X F & o9 &haa B @I 2|

Choose the most appropriate answer from the
options given below:

Hier e = fasmeal O 9 9@ 39 Q)
(a) A, B, C, and D only/shdd A, B, C

(b) A, C, and E only/&haa A, C 3R

(¢) B, C, and D only/&had B, C 31X D

(d) B, D, and E only/sad B, D 3R E




A trader marks up the bfice of goods he sells
by 50% and gives a discount of 20%. Besides

this, he also weighs the goods by 20% less.
What is the net profit he gets?

qawmlﬁauﬁgmé?ﬁaﬁmﬁmaﬁw
(50%) st @ foraar € oy 20% @i B
%HT% sﬂ%ammagawaﬁw (203 &0

?ﬁm%l?ﬁsﬁm
(a) 20% — (b) 25%
(c) 40% (@ 50(@

\&

\mkwb*@ (V>R Lo i




A man reaches his office 30 minutes late if he
walks by 2/3" of his routine speed. What is the ‘\Y))
time he usually takes to reach office?

Teh SAfth AU fafa = ot a fogg =it

O Ical g, df 9 U wiEiad 30 fiAe W
fooma ¥ wguar &1 o wEiew Uged A $*
WA TohaaT 90 Adr 872 }‘

(a) 30 minutes/30 9 (b) 60 minutes/60 A
(¢) 90 minutes/90 &< (d) 45 minutes/45 fiHE

G




Arrange the sequential order of syllogism as \)\*L
Nyaya philosophy:
I Y W =TT e oh 3aTdi oh ShHTIAR O

\N

AT chifSql

(A) Pratigya/SREL . (B) Hetu/=d

(C) Udaharna/3<lg{Ul (D) Nigman/{=ima- L

(E) Upanaya/ECFI?T LF
Choose the correct answer from the options \}‘}" 2/)“
given below: /

ﬂ%ﬁ&m&ﬁm‘rﬁﬁuﬁrwaﬁm i

(a) A,B,D.E,C (o) A.C.B.E.D )

(¢) A,D,B,E,C (d) A, CLB/E\}(
=z




Hetvabhasa (fallacy) produced in the @ z~

conclusion due to refutation of Sadhya by Hetu

. .

éﬁmm@%@?ﬁ}_mﬁm&ﬁw
T aht Frferfiaa fore ©U ° =T SIT4T B
(a) Asiddha/318g

(b) Savyabhicara/HAMIAR @ \/
@ Viruddha/fo%g
(d) Satpratipaksha/Hadfdder




In Universal Negative Proposition, how are the
terms distributed? Choose the correct option

from the following:

et ARNTHeS Ulata |, Uq sl o 0

faafta feanr oar g7 fafafRaa & @ o

farerew sIf@

(a) Subject 1s  distributed, predicate s
undistributed/32¥d v faafta g 8, oo ug
sifaafid @ 2|

(b) Subject i1s undistributed, predicate is
distributed/35¥d 9q faafa g g, fava ug

BITl 2 | .
\ﬁzﬁhe term are distributed Q\)Y)h J;LE
e G i G - A—

-

(d) Neither the subject 1s distributed nor the
predicate

3eYT IR fagm &g off ug faafa T &




Match List I with List 11:

GeA-1 Sl it -1 | GAfAT i)

List/g=1-1 List/g=i-11
(FT/Concepts) (clléiﬁ/
Philosophers)
(A) |Antinomy of pure reason }_]) Leibniz
ENEAEACENE) Y SRR
(B) |Law of contradiction (1) [Kant/&ie
fortemarg &1 fram
(C) |Clearness and distinctnpsSiiii) [Aristotle
Wy ud faferedr 3]
(D) [Pre-established harmox}y Descartes
qd-fra arTeere dahrd

Choose the correct answer from the options

given below:

rer fezr = fasmeut § 9 9E 3T &1 oA &

(a) A-1, B-1V, C-I1, D-1II
(b) A-II, B-IIL,C-1V, D-I
(©) A-IV, B-IL, C-11I, D-1
(d) A-111, B, C-1V, D-II

£
> ;/ W’I'M
W*> A\, 2
< /A
%’g’; \K("/\“//
J =




Wimt is fhe flill forin of the abbreviation ISP?

G 318 TH W ot qul ©0 =T 87
(a) International software Product \(,
I G AR Ede /XRQ/

\(szf Internet Service Provider/3ete afdq Qlclléé\/
(c) Internet Server Product/3eTe HaX Jede

(d) Internet Software Provider v {: A J
32T IR JiaTEel ? Jr/‘

7

Q39 (B9 -G r)
J




~
What is bit rate?/fere 3 @ §? @ \'S T
(a) Number of bits stored in computer

HreT § qUeRd faei o G

() Number of bits per second that can be
transmitted _over a_network/"cdch gRI Hfd
YhUe TRd o S arell farei &t G

(¢) Number of bits per hour stored in a computer
over a network/=ede R P § Hfd 5 H

TUSIRA & S arelt foel &t &

(d) Binary digit converted to_ Eexa decimal
number/S€ <YM (29T SHHd) @ H

trﬁaﬁ‘cr%amﬁ?r 375 |
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